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Combinations Ex 17.1 Q1(i)
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Combinations Ex 17.1 Q2
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Applying formula
o, =" C,=n

Then P+q =n

= "Ciz=" Cg
12+5=n

= h=17
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If "C, =" ¢,

Then # +g = n

!
Also "C, =
rifr-r)!
= o, =" Cy
4+6="n
= h=10

12 12
then C.".‘ = Cll:l

applying i)
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Combinations Ex 17.1 Q4
If °c, =" C,
Then # +g@=nr
= "Cp =" Cyz
10+12=n
= h=22
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If°c, ="c, thenef+r=n

¥+2x+3=24
Ix =21
X =7



Combinations Ex 17.1 Q6

If ", =" o
= P +g=n

_1s
also C, =" C,,.

= X +Nx+2=18
2y +2 =18
2x=18-2 =16
2x =16
¥ =8
Combinations Ex 17.1 Q7
If ”CP =" Cq

Then F+g=n

15 15

= C3r= C,r'+3

= Ir+r+3=1=5
4r+3=15

Ji= i, 3= 45
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8c, =T o+ Oy

Applying formula *C, = o
rifr-rl!
=l 7! 7!
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8= 7! {1 lJ

Cancelling 7! from both sides
g8 g

rn{e-r)t 2x1Ex4l

Cancelling 8 on both sides
2x5x3x4x3x2x1l=r{8-r)!

[3x2)(5x4xIx2x1)=rifB-r)!

= rl =3l

r=3

ar rl= Gl
r==5

Combinations Ex 17.1 Q9
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PP P, =BT 16

[n+2]! 57
HAn-6)l 16
[r-2)!
(- 6]

[r+2)rn+1)(r)(n-1){n-2) _ 27
afn - 2)! 16

Cancelling [.r‘.-—E]! from numeratar and denominatar

L wmi¥mBuwbwd=w3wlxlt

= [r+2){n+1)[n)[n-1)= T

= [r+2){n+1)[n)[n-1)=21x20 =19 x18

comparing both sides n =19

Combinations Ex 17.1 Q11
25! _ 225
(2r)ifze - 2r)! 11
24

[2r - 4)1[24 - [2r - 4))!

28x 27 x 26 x25x 241 (2r - 4)1{28-2r)! 205

= [zr)! {2e-2r) 24 11
28 x 27 x 26 x 25 225
= =
2rx[2r- 1) =f2r-2)[2r-3) 11
2Em2¥x2ox2ix1l =2r[2r—1][2r—2][2r—3]
15x15
= 11x12x13x14 = 2r (2r-1){2r - 2)(2r - 3)

Composing both sides r =7
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_[#m) x(n)?
EDNED] x[2n) 12

[L.2.2.4. {4n - 1) {an)] = ")

" fen), [1.2.3.4.. (2n-2){zn - ) (2n)]

[1.3.5.. (4n - 1)] x[2.4.6...4n] x [n1)’

i (2o} [1.3.5.. (2n- 1] x[2.4.6.. (2n - 2) (2n)]

[1.3.5. (4n-1)]x2% x[1.2.3...2n]xn¥

[zn]!x[1.3.5...{2n—1]2xgm xmz}

[1.3.5....[4n—1]]

[1.2.5....[2n- 1]]2

Hence Proved

Combinations Ex 17.1 Q13
2n! _ 44
3¢ {zn-3)0 3
it
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2nt21{n-2)! 44
37 (2n-3)in! Y

— 2n ! _ 44
ant [n-1)fan-3)r 3

= znfzn-1)fen-2) = 44nfn-1)

= [En—l:][n—l]:ll{n—l]
Q h=6

h=n
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If "C, ="
then r+F =n
la=r+r+2

F=T

then "Cy="Cy [ r=7)

7! e - n!
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I
=35
Combinations Ex 17.1 Q15

5
=2

= {2':'(_?5 +20 C4) +21 Ty +42 Cy +27 Ty

= [Hos+7 )+ 0+ P gy [« "C, 7 G )
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=24 Ce
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Product = [f2r +1){2r + 3)(2n + 5)...(2n + )]

) [En]![[zn +1)[2n+3)...[2n +r]:|

[2n)!
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Hence r = 2n
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= {2n)!
Combinations Ex 17.1 Q17
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) [2n+ 2][2n +1}[2n]! IIIIIIII [ii]
nln+1)(n-1){rn+1)n{n-1)!

e
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Combinations Ex 17.1 Q18

fC,,"Cg, and "C, arein AP
"5 " Cq =" Cg-" C5

! ! !

!

5![n-l5]!_ Afn- 4y Eu![:n—IEv]!_Eu![n—E]!

1

= 4![nn—!5]![é_ni4}=5![nn—llﬁ]![é
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= = —| —
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:} =
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= 6 - 54 = n° - 15m + 44

= ne-2in+98 =10
n=7,14
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mim-1 al
We have a =" Cp= M[”q —]

2 =r![n—r]!
Mow “C, = aia_l}
2
[m[n;—l]][m{n;—l]_l]

2
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2w w? g

mm - 1) {rm + 1) [ - 2)
4 2

multiplying with 3, numerator and denominator to make 4

) mm + 1) mfm - 1) [m- 2)
4.3.2.1

or

) 3+ mm-1){m-2)

1
|
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Combinations Ex 17.1 Q20(i)
L !
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) [r-1)ifrn-r+1x{n-r)!
roxfr-1)ifn-r)!

h-r+1
r

Hence Proved
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[r—l]![n—r]![n—r+1]

multiplying num erator and denominator by [n— r+ 1]]

) [n-r+1)xn!
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=fn-r+1"c,_,

Hence Proved

Combinations Ex 17.1 Q20(iii)
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= |3

Hence Proved
Combinations Ex 17.1 Q20(iv)
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_fr n n n
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